Extraction of MOS Model 7 DC Parameters using Automation Tools
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Data transfer to I1BM

Data Preview using Topex
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Automated Geometry
Parameter Extraction

Confirm Geometry Fit

Create the ESPICE
parameter model file

Model Verification

Computer Usage;

Accutest 3600, PDP 11

DEC Ethernet, VMS VAKX,
IBM VM.

Uses TOPEX in manual,
local mode to draw
device characteristic
graphs.

Merge Accutest files,
Prepare *.list file,

Run "TOPBAT" & "TOPRDR"

Run "ALLMAX" -

Run "VIEWHMINI®
¥

XEDIT

"FASTSLOW"

Files:

inout: Test Table:
output: fn.out

fn*.out
(many *.out files

Topex command
file( *.topex),
Topex init file
(*.data),
Accutest data.

input: *list,
* out.
output: *.total

input: *.total
output: * maxise

input: * total
* maxiset data
output graphs

input: old *.EDOS

input: * EDOS,
Accutest data
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Model 7C:
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